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7 >which of the following is true regarding uterine involution
. £Cy+>it is found at umbilical level 12 hours after chil@birth
~ <C>at one week it weight about 700g
<C>immeditely after delivary it weight 1500g
<C>afterthe third week it will be pelvic organ

e <Q>which of the following statement répresent the correct physiological changes in
cardiovascular system during the postpartum period
__<C>Increased CO due to increased flow of blood back to the heart when blood

A .. . -
from uterpplacental unit returns o central circulation and decreased pressure from

the pregnant uterus on the vessels only
<C>Increased CO persist for 24 hour and return to normal within 6 12 week

: @é%ﬁrine out put of 3000mi /day 2toS days post partum is commen
<C>h 3

rea:t rafe is 100blm in the second day post delivary

~ <Q>wh.ch of the following stat-ment indicate the right changes of weight loss
after deivary
<C>The: woman lose about 4.4-5.5 kg during birth
<C>The woman lose about 2.3-3.6 kg through diuresis
<C>Th~ woman lose 0.9n-1.4 kg fre:m ovuation by the beginning of the second
weelf;ﬂ ;
%@Aﬂ of the above
<CS1Hen of the above

<QO> ali of the following is true regatding maternal blood values except
é@l—} Leukocytosis return to @01 nal by_viéék—G clon-s

Tt and hematocrite returr {006 rmal 4 to 6 weeks »
<(C-icmeostasis retumm 1o poma’ 413 6 weeks

<C>all of the above _-

o

<Q>Which of the following strieme 1t is true
<C>Episiotomy site take 4-6 months to heal completely
<C>vagina take 6-10 weeks to complete involution
f})zﬁﬁéaling of cervix occurs by iheend of first week

,/ <C+>All of the above
<C>Non of the above
<Q>which of the following cons dered abnormal finding of lochia amount

(& /<C>_2_5:IIQ EHl e L nes ¥

_ <C>10-15cm > -~

< "<C>sat\urated peripad in Thour
£C+3aturated pad in 15 minute Az axt

et

<Q>which of the following is not a risk factor for postpartum hemorrhage
57 4CHp-Primipara Z - e
<CSMultifetal pregnancy
<C>Assisted labor
<C>Administration of tocolytic medication {2
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2<Q>The part of the endometrium after implantation that overligs the embryo in the
uterus is called '
<C>Decidua Basalis”"
<C+>Decidua Capsularies~"
<C>Decidua parietalis
<C>All of the above

22<Q>The fetal skeletal muscle cells arises from which one of the following germ
layers - ’ i
<C>Ectoderm
<C>Endoderm
<C>All of the above

&t

I

23<Q>The function of the placenta in exchanging the O2,nutrients and waste product across
the chorionic villi is called '
<C>Metabolic function
<C+>Transfer function
<C>Endocrine function
<C>Respiration and excretion function

& <Q>Oligohydraminios is associated with which one of the following:
_—<C+>Poor fetal lung development—"
<C>CNS malformations
<C>Gastrointestinal malformations
s i <C>All of the above

ZG) <Q>All of the following are correct information regarding Monozygotic twins
Except: ) T
@>Associated with the use of assisted reproductive technique

<C>They are the same sex™ - )< x @ K )(

<C>They have identical genetic complements™
<C>Results from division of zygote into two blastocysts~

26<Q>1f large feet is a dominant trait and one of parents are heterozygous for the )€)< J

trait, and the'other parent is homozyg jt . What is the chance that a
child of this union will hav(large feet in a homozygous state?
<C>25% (1in 4).

\<C+>50% (210 4).

2C>75% (3 in 4). +
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<C+>Associated with afixed risk of occurrence or recurrence in a family

\ U<Q>Which one of the following is considered a numerical chromosomal abnormality

<C>Down Syndrome
<C>Klinefelter's Syndrome

<C>A zygote with 92 chromosome
<C+>All of the above ~

<C>None of the above

Vh<Q>Elevated level of AFP indicates all of the following Except :
<C>Neural tube defect »
<C>Esophageal obstruction
<C>Hydronephrosis—
<C+>Down Syndrome="

16 <Q>All of the following processes occurs in the pre embryonic period Except:

<C+>Development of three germ layers
<C>Initiation of cell division
<C>Entry of zygote into the uterus
<C>Implantation(nidation) process
<C>Development of Decidua

13<Q>;§‘_}Ei_n_x_;g___*~_‘<:ellmasswiH develop into which one of the following:
<C>Chorionic Villi
<C+>Fetal organs”
<C>Amniong”
<C>Chorion

 %Q>Implantation process occurs during which one of the following
<C>3-4 days after conception )
<C+>6-10 days of fertilization?”
<C>When the Morula reaches 12-16 cells
<C>Immediately after development of & blastomeres

Y <Q>All of the following enhances sperm to reach the ovum Except:
<C>Capacitation process -
<C>Whiplike movement of sperm/~
<C>Uterihe contractions under influence of seminal prostaglandins
<C+>Thickness of endometrial layers

Zo<Q>Three to eight weeks of conception period is called
<C>Fetal period

<C>Pre embryonic period?s
§C+>Embg_y_onic ﬁerio%’éé
<C>Zygote period /\ =N

e





image4.jpeg
@ <Q>Which of the following is abnormal endocrine changes during pregnancy
<C>8light thyroid gland enlargement
<C+>Incréase insulin production during second and third trimester”
<C>Maternal glucose level is lower than before pregnancy
<C>decreased aldosterone level

“\;Q> cortisol level increased during pregnancy to
to stimulate the process of gluconeogenesis /

>increased sodium and water excretion
<C>inhibit the action of oxytocin hormone
<C> All answer is correct —~

10 <Q>All of the following are correct regarding Autosomal dominant traits Except:

<C+>Males are more likely to have the trait . — B

<C>One parent affected with the trait will have 50% chance of passmg the trait to the
child

<C>Often appears in every generation ol the family

<C>Produced by dominant gene on a none sex chromosome

\1 <Q>Which one of the following is considered an example of
ait disorder: - ————

T
@Polydactylr%

<C>Taysachs diseases
<C>Cystic fibrosis
<C>Color blindness _

{2 <Q>Which one of the following is correct regarding X- Linked Recessive Disorder:
<C>Females are usually affected of the trait~ ‘
<C+>The female can show full disorder if she have Turner's syndrome
<C>The female child can show the dlsorder if she born to an carrier father and <

affected mother e
<C>Affected males transmit the gene to 50 % of their daughter not to their sons/

13 ' >=Q>All of the following are correct regarding Multifactorial inheritance d dlsorder

/* Except:
<C>1t is present and detectable at birth
<C>Isolated defects occur with other un related abnormalities
<C>It may cause a secondary defect
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First Exame

\ <Q>Which of the following changes occurred normally in the cervix during pregnancy

<C>All answer is correct
Chadwick's siga’
<C> Decreased cervical discharge

<C> Increased connectivé tissue
i

Z/Q> All of the following changes of pregnancy are related to progesterone hormone except
<C>Constipation

<C> decreased air way resistance

<C>pyrosis
—C>nasal stuffiness

2 Q> All of the following changes may occur in the breast as anormal adaptation to pregnancy
excepy
<C> Stria

W C>tubercles of Montgomery

<C>increase in size
C3breast engorgement

Y <Q>Which of the following statements is true regarding cardiovascular system changes during
pregnancy .
<C>Blood volu increase , peripheral resistance decrease, decreased pulse

B >lm‘rl:235d cardiac output, increased tendency to coagulation, systolic murmur
<C>Blood pressure increase during third trimester, increded erytrocytes, slight cardiac

enlargement
<Ow>increased clotting factors, decresed white blood cells, increased pulse

\

<) <Q> which of the following complains reported by apregnant woman consider abnormal in

pregnancy E—
<C>urgency P

<C>constipattion/ o

<C>pruritus = .

T
<C+>dysurea” VU

¢ <Q>A pregnant woman is vulnerable to urinary tract infections during pregnancy because of
<C>Urinary frequency i e
<C>increased bladder capacity
<C+>Uringry stasis
<C>All answer is correct

~7 <Q>The following physiologic changes are documented in the chart of a pregnant woman, which

changes are considered normal

<C>Hb of 10 g/dl, palmar erythema, ankle edeme/
<C+>Glucosurja, decreased mtraocular pressur.

<C>Dyspnea , diarrhea
<C> vaglnva'l bleeding, urinary frequency
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